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NOTE: Write answers to the questons on objective answer sheet provfded. Four possible answers A,B.C & D to each question
are given.Which answer you consider orrect, fill the corresponding circle A B.C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1, The value of gravitational constant 'G' - dq_;’.«EJ'G'MU"A-‘dgf 1.1
(A) 6.673x10"'Nm?Kg? (B) 6.673x10" Nm?Kg? . (C) 6.673x10"'"Nm?Kg? (D) 6.673x10" Nm?Kg
2. The kinetic energy of a body of mass 2 Kg isN\e5J. Its speed is: qd;é;{j/w_g25JJ)!..@JKJK..C(J;€J 2
(A} 5ms™! {B) 12.5ms"! (C) 25mS™ (D) 50ms™
3. What shouid be the approximate length of a glass Yybe to ?L::igd:r;jyi"}ijJHJv:fu%‘fééi_lkﬂx/g5’.‘_}& 3
construct a water barometer?
(A} 0.5m (B) 1m : ) 2.5m (D) 11m
4. Which one of the following material has large specific heat’ S S berle s it UK ttitn 4
(A} Copper ¢ (B) lce i {C) ter U‘L (D) Mercury S5
5. The unit of thermal conductivity is: s E B
(A) wm 'K’ (B) wm?2K2 (C) wm'K? (D) wm?2K"
6. Metals are good cbnductor of heat due to the: _..T_.T,rKi.ij:’nf.&’zr‘Cy"f 6
{A) free electrons i 9117 (B) big size of theimolecules  #(1%647, Ly
(C} small size of their molecules sl K){-atédi (D) rapid vibratiors of\their atoms )'?-/:’Is;c“d//:fz:ui
7. The number of base units in Slis: ' ce IS EST T
(A) 3 (B) 6 (C) 7
8. Amount of substance in terms of numbers is measured in: _g_&gb’i.)? L,C:fo):uﬁ&_:t.ufé.u’( .8
{(A) Gram r*x’; (B) Kilogram (Lff {C) Newion [k (D) le Jr
9. Atrain is moving at a speed of 36Kmh' .lts speed ,dﬁﬁ{f:gfulufms"_:l_.gﬁ;/;f”/ 9
expressed in mS' is:
(A) 10mS " (B) 20ms™ (C) 25ms™ (D) 30ms™
10. Which one of ihe following is the unit of momentum? i ?‘.?-.,p?f‘_*/‘gb’ g Jits 10
(A} Nm (B) kgms™ (C) NS (D) NS
11 Aforce of 10N is making an angle of 30° with the x-axis. e Bl 5K 30° AL K iox o d N 10 11
Its horizontal component will be: k
(A) 4N (B) 5N (C) 7N (D) 8.7N
12. The value of 'g' on moon's surface is 1.6mS ™ what will be the AIL100Kg ke 1.6mS e d g Lilke \12
weight of a 100Kg body on the surface of the moon? ‘.‘E’ng-@}sb’ﬁ
{A) 100N {B) 160N {C) 1000N (D) 1600N
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Section-I 2x15=30 ‘:BJJ Mo
2-Write short answers of any five parts from the following. 2x5=10 LI?/"ZAJI((,LL(}):-_Q"J;L»-Z
I. What is meant by scientific notation? "r_J/LQ-_,J’:’_ﬁ/l/
i When the zero error of screw gauge wil be negative? ¥y V"L’Jx’wb 5’,,/& i

iii. Define basic quantities. ubhﬁ/"uu»iwd L i

f‘./_ﬂ/w__ﬂ/ v
{spiacement? o/.;.u/[f - "J/:U-”b Y
vi. What is the difference between positive accelergtion and negahve acce[eratron?‘r_u/UL J/’rf mf(/)’LJ wi i
vii. Define mass and weight. ...:.__,.L,'L«_ﬂ/r L i

:;:;HLL&-"JJ._.U wili

2x5=10 ggutr;fféfwa;d,@_awc,ms‘
.,J/Jj')j/n’.._} iJ!JJ/J N

Iv. Whal is meant by graph?
v. What is the difference between distance and

viil. Write two disadvantages of friction.
3-Write short answers of any five parts from the followi
t. Define the resolution of forces.

ii. Whatis difference between torque and couple? ‘-'.f__u/izfdfd';;uxt‘ i

T i
iil. State the principie of moments. SIS i
iv. What is difference between 'g’ and 'G'? I RG LG v

ér:.ﬂfbu’):’ L}"Jj/( RY
";Lf }’"L,/«"f i

) L-b/szrg/_ﬂ/JJ/rd-"y vii
E ~A/5¢,u‘m’ LS5 2 i

v. Define gravitaticnal force,
vi. What is geostationary satellite?
vii, Define potential energy and write its formula.
viii. What is worg done in lifting a brick of mass 2kg through a

height of 5m above the ground? 7P
4-Write short answers of any five parts from the following. 2x5=10 . _,Lli/"Z»i]if/La.dfc.uCJ:b»-ﬁi
i. Define density and write its formula, - A*’“ur;bbufrj,lcfh_d/‘ “6’”
ii. State Pascal's jaw. _.:éfgwybb’uﬂ i
lii. State Archimede's prinziple. c’f-(uw)/uﬁ’f.f,uafz i

gle/Jinf/Jif/ v

wv. Differenliate betwser temperature and heat.,

v. Convert 50°C on carligrade scale into Fahrenheit scale. wc:-t,, ;Jw, e La_,m:rf : 50°C/J’w#/f v
vl Why are the birds cailed expert thermal climber? fr & £ Vi
vil. Define radiation, _ Yl
viii. Differentiate between land and sea breeze. WEBAY S AP K #I0 % il
Section -II (3>
Note: Apswer any two questions from the following. 9x2=18 -J/C‘fwt’iﬁuﬂ"fﬂ c:-dl(clﬂlfl.)'a‘ EeY
5. {(a) State Newtan's Third iaw of motion and explain 04 ..._uL/.f'[cbevL}!bf/"gJ"KlJ:« (
it with an exampie. \ - /f..)uu__,u
(b) Find the retardation produced when a car moving at a 05 o’b JL, ’a:_ A 74::.-0 IF-JSOmS JKJ (u)
velocity of 30 metre per second slows down uniformly to o uf.;,é’,rb_g, dlf?}'e ,v.h}, < 15./;?{}:»:'5
15mS™ in 5 seconds. - Erh
6. (a) Write names of three states of equifibrium and define them. 04 A s ‘u‘”@t.{;\_}:"buﬁu?/dﬁ () .6
(h) A girl carries a 10Kg bag upstairs to a height of 18 steps, 05 . ./_.Lj"’z rﬂ18/u/ /LlWK(J/,)K’TOu/Mf ()
each 20cm high. Calculate the amount of work she has Zcfuua_b /wuzf «-20cm d{nrur g
done to carry the bag. Take (g=10mS™). (g 10mS }ﬁ:f—r:}-";fwtfd/;
7. (a) Explain the working of hydraulic press on he basis of 04 Q/_/f Ja{;_.J.-»,k ‘LJd.u:’w:[f’g () .7
Pascal's law. HJ/C..)L.'::
(b) Hew much heat is required ‘o change 100g of water at 05 Uit ey F100°C fd 4/100 ()
100°C into steam while latent heat of vaporization of water L.,.n]d“zfjmy-JJL.»)V,ufn,.,;if"u"cj_ '
is 2.26x10°JKg"? ‘e 2.26x10%Kg™
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Section-I 2x15=30

2-Write short ans
i. Define least cou

rs of any five parts from the following.

i. Define Plasma Physics and Geo-Physics.

iii. Differentiate between\basic and derived quantities.

iv. Differentiate between sgeed and velocity,

v. Define vibratory motion and give an example.

vi. A player covers BOm distance
vii. Differentiale between mass an¥ weight,
viit. Write two disadvantages of frictioy.
3-Write short answers of any five parts from the following.

i. Differentiate between like and unlike parallel forces.

ii. Stete the principle of moments,

iil. The weight of a body is 147N. What is its

{Teke the value of g as 10mS™)

iv. State law of gravitation.

v. What are the artificial satellities?

vi. What is meant by global positioning system?
vit. Define work and write its unit.

viii. What is the second name of solar cell and how is it made?
4-Write short answers of any five parts from the following.

i. What is the application of Pascai's Law?

ii. Define Archmede's principle.

iii. What is meant by elasticity?

w. Define lalent heat of fusion.

v. Wnat is meant by internal energy of a body,

vi. Define sea breeze.

vil. What is the cause to remain a glider in air?

What is meant by the transfer of heat?

Section -1II

wviil,

Note: Answer any two questions from the following. 9x2=18
04
05

5. (a) Describe four methods of reducing friction.

(b} A car has a velocity 10mS™ . It accelerates at 0.2mS™
for half minute. Find the distance travelled during this
time. Also find its final velocity.

6. {a) A force 'F' makes an angle of g with x-axis. Determine 04
the magnitudes of its rectangular compenents

(b) A force of 200N acts on a body of mass 20Kg. The force 05
accelerates the body from rest until it attains a velocity of
50mS™ Through what distance does the force act?

7. (a) Whatis up thrust? Explain the principle of floatation. 04
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2x5=10

10 seconds, Find its average speed. -?P)”J};bfﬂ&ﬂ_a /&.PBVBOJMQOLS; M..f Vi

5h})/u*um;UL v
0
q_.,_,tw:'éu’;’ il
&guw/‘fén;réLLdfa.u’:JJc,»d
cézlwfuw.__ /,:,UJF < LUl LY i
é/w:ﬂ(u“’r i
UV 147N s LT il

2x5=10

IS
SIS e

St e B2 E i
i i By A5 i

abérﬂz;if_.b((Li/::KJ')r viii

@J.._.;Uj‘/‘jﬁdilé[.c:..d)/f_.u.{})bﬂ--dv
?;MuwffuybL&L i
—J/’JJ:"&JM;I i

e VT i
JJ}JHJVJ;J) v

“a;:i/lf"::..dffJﬂJ()(f(

SR i

e Wb s ltindl 2 Vil

i

2x5=10

<

?c:'_, Ay l:'/c;. .:.:JVQL‘E'}‘

, 0 .
..g,f/;‘folt.lﬁc‘:.:a dfc...Lﬂd:J'ZwJ by

_J/-'LE{.

Lru,u;-w,-w;/z.mw_f&; ‘Tl
_J)F' ¢
u;ﬁ&urr_t}u Q' ,,up*w:/fr-x F J.r.-‘_“l\(._nil) .6

- IL‘/JJ}’JCJU’“'— &
@J/quw 200N /% JIJLJer/’;E’z ()
( FLV‘L'G’:(/)/., “L_/JVJJJJ!L—C.-
.:_J/Ju.ﬁur_{uj Fudse wf/uwwu U:JSOmS

:.ih.-?.mu v‘fﬁﬁ_/ r'_.rL/lz(r;.Jn’JJli[ (
.5 Jnof‘ >7 :u.( H ar.

Rowr-315

nncﬂ‘ﬂr //.



